
Post-Mortem

CS135 Winter 2024, Assignment 03

Question 2abd (waterloo2-poker.rkt)

• ordinality

– Some students wrote a separate conditional statement for each Card number, instead of making
use of the number? or integer? function to greatly reduce repetitive code.

• strength

– Many students either did not make use of helper functions to simplify strength, and/or did not
define constants for each of the different strengths.

• winner

– Some students did not make use of their function from Q2c to greatly simplify this question.

Question 3bc (collide.rkt)

• Some students did not use the provided data definitions for Point and Sphere in their contracts.

• Many students did not use distance-between-points as a helper function for both questions.
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